
𝑦 =
(𝑥 − 1)(𝑥 + 2)

𝑥 + 2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
(𝑥 − 1)(𝑥 + 2)

𝑥 + 2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 = 𝑥 − 1

𝑥 + 2 = 0
        𝑥 = −2

Hole: 

   𝑦 = 𝑥 − 1
   𝑦 = −2 − 1
   𝑦 = −3

𝑥 ≠ −2

𝑥 𝑦

−2 −3
(−2, −3)

Set what you've 
crossed off 
equal to zero 
and solve.

(−2, −3)
𝑦 =

(𝑥 − 1)(𝑥 + 2)

𝑥 + 2
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑥 ≠ −2𝑦 = 𝑥 − 1

𝑦 =
𝑥 + 3

(𝑥 − 1)(𝑥 + 3)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
𝑥 + 3

(𝑥 − 1)(𝑥 + 3)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
1

𝑥 − 1
⎯⎯⎯⎯⎯

Hole: 𝑥 + 3 = 0
        𝑥 = −3

𝑦 =
1

𝑥 − 1
⎯⎯⎯⎯⎯

𝑦 =
1

(−3) − 1
⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
1

−4
⎯⎯⎯

ቀ−3, −
ଵ

ସ
⎯ቁ

𝑥 𝑦

−3
−

1

4
⎯⎯ 𝑉𝐴:    𝑥 = 1

𝑉𝐴: 𝑥 − 1 = 0
        𝑥 = 1

𝐻𝐴:    𝑦 = 0

𝑦 =
𝑥 + 3

(𝑥 − 1)(𝑥 + 3)
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑦 =
1

𝑥 − 1
⎯⎯⎯⎯⎯ 𝑥 ≠ −3
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